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4liss(scalar) 5B AE—8E -

X<-6 # set x to 6

x==5 # check if x is equal to 5

## [1] FALSE

x!=5 # check if x is not equal to 5

## [1] TRUE
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x<5 # check if x is smaller than 5

## [1] FALSE

x>5 # check if x is bigger than 5

## [1] TRUE

x<=5 # check if x is not bigger than 5
## [1] FALSE

x>=5 # check if x 1is not smaller than 5

## [1] TRUE
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[o) = EA4E S AVEEER

- [@E(vector) B SEEELEERIEE > Ul

x<-c(6,4,5)# x is the vector containing three elmenets 6, 4,5
X

# [11 6 4 5
tEE = x BEENSZEEEME

x==5 # check if x is equal to 5
## [1] FALSE FALSE TRUE
x!=5 # check if x is not equal to 5

# [1] TRUE TRUE FALSE
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[o) = EA4E S AVEEER

x<5 # check if x=(6,4,5) is smaller than 5
## [1] FALSE TRUE FALSE

x>5 # check if x is bigger than 5

## [1] TRUE FALSE FALSE

x<=5 # check if x is not bigger than 5

## [1] FALSE TRUE TRUE

x>=5 # check if x 1is not smaller than 5

# [1] TRUE FALSE TRUE
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o) = B4 o) SHYEEER

x<—c(6,4,5)
cc<—c(5,4,6)

x==cC #xHlccEIEEEENIEEEEIE/E]

## [1] FALSE TRUE FALSE
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o) = B4 o) SHYEEER

mEREAEHAMERIER

x<-c(6,4,5)
length(x) #51EXHIRE

# (1] 3

y<—c(1,2,3,4,5,6)
length(y)#51Ey9EE

# [1] 6
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o) = Ed[m) S RILEE

- WER=ARE(ength)ZEiE[E
x1<-c(3,4,5)

x2<—c(3,4)
x1==x2 #x1Fx2 FEaE18[aERIEEE G/

## Warning in x1 == x2: BRAWMFRELIFREHRENEE

## [1] TRUE TRUE FALSE
Warning E2512IVsHARIBEAEIE » (BEAERRAEIET AT -

+ X2 tEx1/D—{EfE » MBIRAXHEE2 REEAROE - EX1REEX2HIEE
Rl'mT DAt A R fEx 2% 7m EAx 1 R R R ELEE -

- BIMEE AIERTERBA > MAZS © IhKREEBAS—EES3 -
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o) = B4 o) SHYEEER

x1<-c(3,4,5,4,3,6)
X2<_C ( 3 ’ 4 )
x1==x2 #x1HIx2 EaIE 8 ELVEEEE1E/E]

# [1] TRUE TRUE FALSE TRUE TRUE FALSE

- MEERAXHEEXR REBEAXEE -
- RNBIHENS AT

c(x2,x2,x2)

# [1] 343434
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o) = B4 o) SHYEEER

# x<-c(6,4,5);cc<-c(5,4,6)
Xl=cc

# [1] TRUE FALSE TRUE
X<CC
## [1] FALSE FALSE TRUE
X>CC

# [1] TRUE FALSE FALSE
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o) = B4 o) SHYEEER

# x<-c(6,4,5);cc<-c(5,4,6)
X<=CC

# [1] FALSE TRUE TRUE
X>=CC

# [1] TRUE TRUE FALSE
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1]

EHRE

- HTEEEXFYy 2 E1E[E

x<-c(5.8, 5.2, 5.7, 5.9)
y<—c(6.2, 4.3, 5.7, 4.9)

ARRED > BHMTIEIRIER

x>5.7
y=>=X
X—y>=0
y=X==
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I(x==5)

x>4 & x<7

x<3|x>5
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TRUE

TRUE

15/27



g5 1

X<—0
y<-3

X==6

## [1] TRUE

y=—=6

## [1] FALSE

I (x==6)

## [1] FALSE

I (y==6)

## [1] TRUE
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g5l 2

## [1] FALSE

## [1] TRUE

## [1] TRUE
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Bl 3

x<-c(5.8, 5.2, 5.7, 5.9)
y<-c(6.2, 4.3, 5.7, 4.9)
I (x==5.7)

# [1] TRUE TRUE FALSE TRUE

I (y==5.7)

# [1] TRUE TRUE FALSE TRUE
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£f5l 4

x==y #IEREZEF

## [1] FALSE FALSE TRUE FALSE

| (x==y) #EIEEE

# [1] TRUE TRUE FALSE TRUE

x>y | x<y

# [1] TRUE TRUE FALSE TRUE
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=M NEIRAS

x==5.7&y==5.7
x>5.7&y<5.7
x<5.7|y<5.7
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=S TRUEEY{EEY

x<-c(6, 8, 8, 5, 7, 5, 6, 9, 9, 6)

BAEESHFEFNS

X==

## [1] FALSE TRUE TRUE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
sum(x==8)

(1] 2
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TRUERYAE

- {EF8 which() [REX

# [1] FALSE TRUE TRUE FALSE FALSE FALSE FALSE FALSE FALSE FALSE

# (1] 2 3
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x<-c(5, 11, 4, 10, 7, 13, 10, 6, 14,

1. BREZEFFMNO
2. FNIMAIE
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HAB{E(EX ~ &)

x<-c(6, 8, 8, 5, 7, 5, 6, 9, 9, 6)
max(x) # ERAME

# [1] 9

min(x) # &R/VE

## [1]1 5

max_x<—-max (X )
which(x==max_x) #method 1

# [1] 8 9
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{£FH which.max() EREX

which.max(x)

## [1] 8

- Determines the location, i.e., index of the (first) minimum or maximum of a
numeric (or logical) vector.

- REEE(ER which.max()
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areare 10

x<-c(5, 11, 4, 10, 7, 13, 10, 6, 14,

1. RXEESANENUE
2. &/ MER R/ MERILE
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